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Pre-Calculus Honors

-Iketch & then find the vertex equation, the facus and the directrix.
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Sketch & then identify the center, vertices, & foci for each ellipse bateyy:
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Use the information provided to write the standard form of each ellipse. c= {a-1

6. Vertlces 14,0) ( 147 0! 7. Foci: ( d_ 7.0), (_,\/_ 7,0) :36
Foci: 3’\/ 0 -3 ) Endpomts of major axis: (9, 0), (-9, 0)
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HYPERBOLAS = - + = N= 7l-\o* a’

ﬁ'
Sketch & then identify the center, vertices, foci, & asymptotes for each hyperbola below:
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Use the information provided to write the standard form of each hyperbola.
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16. A bridge is in the shape of a semi-ellipse. If it spans 100 feet, and 30 feet from one end
is 25 feet above the raging Neuse, what's the tallest boat that can fit under the bridge?

17. Consider a hyperbola where the slope of an asymptote is %, avertex is (3, 8) and the

center is (3, 11). Write the equation of the hyperbola, find the other vertex, the foci, and
the equations of the asymptotes.

For the following problems: a)identify the type of conic, b) find the eccentrlaty, and
c) identify the position of the directrix with respect to the pole.
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